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1-2302
B.Sc. (II"Y Semester)
Examination, May-June, 2025
CHEMISTRY
(Fundamental Chemistry - Il)
(CHSC-02)
Time Allowed : Three Hours

Maximum Marks : 7_0

e : v e g o ¥ &) wog & @S (31) T (F) B T
gel & IR al
Note : There are two sections in the given question

paper. Answer all the questions from Section A

and B.
gus-A
(Section—A)
axjfe / sgfascdta weA
(Objective / Multiple Choice Questions)
Q. 1. @ y & IR A 10x1=10

Attempt all questions.
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(2) (3)
T IR B T R (c) Br
Choose the correct answer : d I
(i) veeTH &RS R (iii)mésﬁﬁ?m@aﬁﬁﬂmm
(31 LiOH 3.
(3@ NaOH 3 1°
() CsOH (@) 2°
(@ KOH @ 3
Strongest base is : (@) IR T
(a) LiOH Among the various hydrogens of alkanes,
(b) NaOH the most reactive is :
(c) CsOH @ 1°
(d) KOH b) 2°
(i) Ag® ¥3a 7= & W 8 & # () 9
& F (d) Al of the above
{) CF (iv) HBr & tReamies am frm & 78w
(¥) Br RIS
LU (30 1€
Ag” complex is not formed with - (§) §I¢.1,gq
Al & @) we-2da
o e @ Wg2d
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(vi)
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(4)
Antimarkownikoff sum of HBr is not found in
the following :
(a) Prop-1-ene
(b) But-1-ene
(c) But-2-ene
(d) Pent-2-ene
WA & TEGIE B ANA HFT AReeRE
7
(3) NO,*
(@ NO,
(1) NO.,
(7)) HNO,
The active nitriting agent during nitration of
benzene is :
(a) NO,'
(b) NO,
(c) NO,
(d) HNO.,

STTGT Hoegr 2 -

(31) 5.023 x 1077

(5)
(@) 6.023 x 107%°
(|) 6.023 x 1023
(@ W B T
Avogadro number is :
(a) 5.023 x 102
(b) 6.023 x 10725
(c) 6.023 x 10°

(d) None of the above

(vii) U5 TFE BT FHE © -
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(31) @rga

(@) 34

(|) BB &

(@) Nm

Unit of surface tension is :
(a) Poise

(b) Dyne

(c) Dyne cm™!

(d) Nm

P.T.0.



(6)
.pAgBr??TF?‘:ﬁ'ﬁmé

(ix)
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SISl

7) o A

Lattice defect in AgBr is called :
(a) Schottky defect

(b) Frenkel defect

(c) Metal excess defect

(d) Metal deficiency defect
ifes sfuemo # wgE &y 2
(31) gEgls dd

(@) dms drcd 9l

(|) IEEHE ad

(@) IEHD da

The bond used in physisorption is :

(a) Hydrogen Bond

(b) Vander Waal's Force

(x).

(7)
(c) Chemical Bond

(d) Ionic Bond

(31) famam RO @
(§) FAM IAROT B
(§) ¥@a: I8ROT B
(@) wRa IBROT B
The reaction 2SO, +0, i>280
example of :
(a) Heterogeneous catalysis
(b) Homogeneous catalysis
(c) Auto catalysis
(d) Induced catalysis
&g I v

(Short Answer Type Questions)

Q. 2. T g F IR 100 @l H S

Answer all questions in 100 words.
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, IS an

4x5=20
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(1)

(i)

(i)
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(8)
frefefeg ® fewdh fafae
() &g enget & st § faeraa
(@) Ivomifes foemas
Write notes on the following :
(a) Solution of alkali metals in ammonia
(b) Amphoteric solvents
R ¥ @@ fogia vd dmeli @ fedee
Gai
Discuss Baeyer strain theory with limitation.
0.800 . ¥ €I arem @@ 0.21 Pl @
arelt beret # 62.5 findt A d@ dean &1 @@
@ 5 99§ Dol
A liquid of density 0.800 gm cm™3 rises to a
height of 62.5 mm in a capillary tube of 0.21
mm diameter. Find the surface tension of the

liquid.

(9
(v) g fd 6 Fed & » dga o1 Fae @@

B & ?
What is Brownian moment? What is
electrophoresis ?
gus-§
(Section-B)
Gl
(Descriptive Type Questions)
e ;W g $ IR 350 I F Al 4x10=40
Note : Answer all questions in 350 words.
Q. 3. frffed w wfta Rooh fife :
(37) fdcTas & RN B IFFER -8R g
(¥) wge aa-aR fagia
(W) ew=gr-anel @ smifde ofe
(@) 39 3nc-aR fagm
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(10)
Write short note on following :

(a) Acid-Base theory based on solvent system

concept
(b) Conjugate acid-base theory
(c) Relative strength of Hydra-Acids
(d) Lewis acid-base concept
3@l / OR
HSAB Fagia & amaR W Frfafad o FHese -
(30) NH,, BH, @ geF ¥ BF, ¥ W & &l
(@) FfR 7 Fifteet % 3R HHES B T A T
sm 2l
(@) Bel, @1 HgF, fpaiax BeF, dar Hgl, T
2l
(@) cul oA W sfaea # safe Cul, faea 2,

HHHATGU
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(11)
Explain the following on the basis of HSAB theory :
(a) NH;is more combined with BF , than with BHj,.
(b) Copper & Nickel ores are occur as sulphide.
(c) Bel,and HgF, react with each other to make
BeF,and Hgl,.
(d) Cul is insoluble in water while Cul, is

soluble. Explain.

amlf, R 3R Fer Reencrs wuE ¥ 3 T FIER
8? ¥ FideaRt T &t 3uge e & '
RGEIEY
What do you understand by ortho, para and meta
directional effects ? Explain giving suitable
examples.
3@i/ OR

() Frafofaa sfifsasi &1 @ $fe:

() CH,-CH=CH,+CI-Cl——

KMnO,

CH, = CH
@ ? 2 KOH
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- -~
- - <
-¢ P
~ A = —
=1 L=y
o
AZhNC.
~ ~_ra ° 3
2 I — =
T NH,CH
[ I oAal~
KCH zlc
(1 C k™| o™
— H _CH. -CH- M
= o -
=-
-~ = I lALARA AALI2Y0N T
Comoeis (he T0wIng SC0eaulit -
C Cl—
2) CH. -CH=CH.-CI-C

(@}
?\ =
O] =
T

KOH (zalc)

(e) CH,-CH,- (le—c:HE

. 3 Sero = —pe=w
(i) n-wj: 7 J¥aUl @] §AFIEC

Explain the conformation in n-Butane.

-
Q5 IRIEIFARIVTIX P V. T T. & 74 Fa

Gl
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Find the value of P_. V_and T_using Vander
Waals equation.

Fg=1/OR
@) Bl Fe o WReufsa Sfwl 55 =R &

Define three dimensional lattice. Mention its
type. Calculate the ratio for (100). (110) and
(111) planes.

ey

(i) IEgg ©wui -

)

() F3x
(8) W AW
Short notes :
(a) F-Centre
(b) Schottky defect
Q. 6. IS NEaET & fufEw IR FuiRe s

» T 2 R & o= a5 = w2
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EEmmmme -
(14) (15)
s % T a8 fag B f 99.9% aifufean () Medicines are usually prepared in colloidal
asgvfgﬁﬁmmanﬁrmﬁi%masqﬁ‘sﬁﬁ state.
o ww @ 10 T g g

Explain any two methods to determine order of

(d) Applying alum stop bleedings.

(e) Gelatin is used as a protected colloid.

reaction of the chemical reaction. For a first order
reaction, show that the time required for 99.9%
completion is ten time the time required for the
completion of half of reaction.

3@t/ OR
BRUT WL DI :
(37) g @1 S e g gl
(@) R ot W § frd & adf 3w & @
() iRt T PeEd saen # FR F W D
(@) fredd T A HUE §< & I 8l
(@) fafa M Poiss & ¥ § WD aar &l
Explain the reason :
(a) The water of the sea is blue.
(b) Where rivers fall into the sea, a delta is

formed.
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